EARAROBEEIERT — 2 N— IBISH —F

201757H2H (B) 4E7KR5H

m#‘/if XE C1=# ¥5%—MH (xwlw | lmEmml - |5 ) eom 8
[AE£] 1% :260,000 " ~ 2#%&:52,000”  33%&:26,000M . 43%&:19,000 M 53 :7,000 8
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
177172107147~ o4 | B 1A 22-1-1 |40.0| — | 1 (4;3; T#Ei (a5F)
R:F15>80 B:TS4717h—~4L b e ]
=5 _; oF L ZAHR 148. 44~ . — FEEE (KR
olil1| vy 7277151 # 5 43 1(428)2 4-4-4-4 | 39.9 2 (5+338) Lol
R:T7NTFY B:RA—A J—HrIr—L
-, s . LA : —~6-5- - MHEEE (BE)
B3| TFvar i o4 i 1(74?:)2 6-6-5-3 | 39.6 4 (4_721) it
L:aZ /XLy b B —La2IN(1T AATINT 7 — L
KOy # o4 | HER 1:48.6 1-1-1-1 | 40.7 | — 3 461 | HEE (KR)
4|5|5|7=FBv7 0 2 1/2) (o) |FIEEX /
LYY G 4 T5R BD—LTFINT 1 — BINET 7 — L
o 3 — —7-7- — [F 7]
N - BESY 4 6 sfé_E(l)’(e 1.(418).8 7-7-7-5 | 39.9 6 :ﬁ) ”a%—i.i%j (B&FE)
L:vY¥/ by THY BANRI w4 —2 Ei=Yie]
=y ] 0 a0 _ — =+ 5
N NEEEPETPE! 5 5@4&5 1.(4;).7 3-3-3-6 | 41.6 7 (4+3£) ;ggj (KiR)
R:y07% B:IIAENT -4 yaiutie
= 47 | $AH 1:50.0 5-5-5-7 | 41.4| — 5 510 | REEZ (ERE)
TRl 2| 7717 54.0 (1 1/2) (3) | LERE
LT N=—HrhU— BT7TO-XTT7— U5 &
@ 1 — S —EBIEf
13—7+— 5,7,4,1,2,3,6
A== 5,7,4,1,2,3,6
Jol=5r= (5,7),4,1,(2,3) ,6
40—+ — (5,7),3,1,6,4,2
[ N3
BB 7 140 714K 1-7 140H B = 1-7 240 3EHE 1-3-7 470MH
8 B 7 1004 3-7 180M B H = 330M K31 7=1=8 990M
1 150/ 1-3 200M

ABICOVWTRDTEEERROODE. TR LIV,




